2013-01-08 Rabbit_8.1.

Jakotaulut

8 poytaa, 15 paria, 1 lepopari. Jakomadra: 14. Keski: 84,0. Lepokierros (*) antaa pelattu prosentti.

Sija Pari Pisteet $  Nimi Kerho

1 4 103,0 61,3 Kalle Kuisma - Antti Voitto Salon BK

2 8 102,0 60,7 Esa Leppanen - Ilmo Arosilta Salon BK

3 11 99,2 * 59,0 Johanna Helenius - Raija Berglund Salon BK

4 15 96,8 * 57,6 Matti Alanko - Timo Alanko Salon BK

5 1 95,0 56,5 Teemu Mets&noja - Lasse Saloranta Salon BK

6 16 92,2 * 54,9 Seija Suominen - Laura Alopaeus Salon BK

7 6 92,0 54,8 Merja Molsd - Reijo Haartola Salon BK

8 13 86,3 * 51,4 Hannu Lindeberg - Tapio Kyronlahti Salon BK

9 2 86,0 51,2 Outi Yrttiranta - Terhi Mantyla Salon BK

10 14 80,5 * 47,9 Taisto Louhikoski - Leena Maenp&a Salon BK

11 3 77,0 45,8 Peter Soinu - Risto Noki Salon BK

12 7 76,0 45,2 Essi Manninen - Nina Virtanen

13 17 68,8 * 41,0 Outi S&k&j&rvi - Rauno Tasala Salon BK

14 12 64,2 * 38,2 Pertti Lehtinen - Jaakko Viima

15 5 41,0 24,4 Matti Rintala - Pekka M&enp&aa Salon BK
Jako: 1 Jako: 2
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
6 2 2N E +1 HJ -150 12,0 0,0 8 1 25 W = D10 -110 12,0 0,0
4 3 1IN E +3 s4 -180 9,0 3,0 7 5 3H E +1 CA -170 10,0 2,0
7 5 2N E +2 S2 -180 9,0 3,0 4 3 3N W = D9 -400 8,0 4,0
8 1 3N E = 5S4 -400 6,0 6,0 6 2 4H E = D8 -420 3,0 9,0
12 14 3N E +1 87 -430 2,0 10,0 12 14 4H E = CA -420 3,0 9,0
15 16 3N W +1 C5 -430 2,0 10,0 15 16 4H W = C5 -420 3,0 9,0
17 13 3N W +1 C5 -430 2,0 10,0 17 13 4H W = C4 -420 3,0 9,0
11 —- Lepokierros 7,1 11 -- Lepokierros 7,1
Jako: 3 Jako: 4
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
7 3 3N E -5 H3 500 12,0 0,0 11 14 35S E -4 HA 400 12,0 0,0
13 15 3N N +2 C6 460 10,0 2,0 1 6 3S E -2 HA 200 9,0 3,0
16 17 4H N +1 C10 450 8,0 4,0 8 2 3H S +2 CQ 200 9,0 3,0
11 14 3N N = C8 400 6,0 6,0 5 4 2H N +2 S2 170 6,0 6,0
1 6 35S W -1 H6 100 4,0 8,0 16 17 3S E -1 CA 100 4,0 8,0
5 4 3H S -1 SA -50 1,0 11,0 13 15 25 E = CA -110 2,0 10,0
8 2 4H S -1 SA -50 1,0 11,0 7 3 4Hx S -1 SK -200 0,0 12,0
12 -- Lepokierros 4,6 12 -- Lepokierros 4,6
Jako: 5 Jako 6
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
6 5 5Cx E -5 S10 1100 12,0 0,0 8 3 1IN S +4 CJ 210 12,0 0,0
14 16 4S N -2 H3 -200 10,0 2,0 2 7 1IN S +2 S3 150 10,0 2,0
1 4 4H W +1 S9 -450 5,0 7,0 1 4 1IN S = H6 90 8,0 4,0
2 7 4H W +1 SK -450 5,0 7,0 6 5 2SS S -1 HA -50 4,0 8,0
12 15 4H W +1 S6 -450 5,0 7,0 14 16 3N S -1 HA -50 4,0 8,0
17 11 4H E +1 SK -450 5,0 7,0 17 11 2N S -1 H6 -50 4,0 8,0
8 3 4Sx N -2 SQ -500 0,0 12,0 12 15 3C S -2 H6 -100 0,0 12,0
13 - Lepokierros 6,2 13 -- Lepokierros 6,2
Jako: 7 Jako: 8
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
11 12 2s E -2 D3 200 12,0 0,0 15 17 3N N +2 S2 460 12,0 0,0
2 5 3D W +1 89 -130 7,0 5,0 2 5 3N N +1 S2 430 8,0 4,0
7 6 2D W +2 H4 -130 7,0 5,0 3 1 3N N +1 87 430 8,0 4,0
13 16 2D E +2 SA -130 7,0 5,0 8 4 3N S +1 HS8 430 8,0 4,0
15 17 3D W +1 H5 -130 7,0 5,0 7 6 3N N = 387 400 2,0 10,0
3 1 3S S -2 DA -200 1,0 11,0 11 12 3N N = S9 400 2,0 10,0
8 4 2SS S -2 DA -200 1,0 11,0 13 16 3N N = S6 400 2,0 10,0
14 —- Lepokierros 5,8 14 -- Lepokierros 5,8
Jako: 9 Jako: 10
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
1 7 4s N = H4 420 7,0 5,0 8 5 2Nx W -2 CA 500 12,0 0,0
3 6 4S N = H7 420 7,0 5,0 4 2 4s W +1 CA -650 9,0 3,0
4 2 4s N = CQ 420 7,0 5,0 16 11 4S W +1 CA -650 9,0 3,0
8 5 45 N = CJ 420 7,0 5,0 1 7 4S W +2 H3 -680 50 7,0



14 17 4s N = C8 420 7,0 5,0 12 13 4S W +2 H3 -680 50 7,0
16 11 4s N = H4 420 7,0 5,0 3 6 4S W +3 H3 -710 2,0 10,0
12 13 3S N = H4 140 0,0 12,0 14 17 5Cx N -3 SA -800 0,0 12,0
15 -- Lepokierros 6,9 15 -- Lepokierros 6,9
Jako: 11 Jako: 12

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
13 14 2H W -3 s4 150 12,0 0,0 15 11 1IN N +2 HK 150 12,0 0,0
8 6 3D E -2 HJ 100 10,0 2,0 2 1 1IN N +1 C8 120 10,0 2,0
4 7 2D E -1 S5 50 5,0 7,0 4 7 3D S = HA 110 8,0 4,0
5 3 3N E -1 DA 50 5,0 7,0 17 12 2SS E -2 DA 100 6,0 6,0
15 11 2D E -1 HJ 50 5,0 7,0 8 6 1IN E -1 S8 50 4,0 8,0
17 12 1D E -1 CQ 50 5,0 7,0 13 14 2D S -1 C9 -100 2,0 10,0
2 1 1IN W +1 H2 -120 0,0 12,0 5 3 3D S -2 HA -200 0,0 12,0
16 —- Lepokierros 6,6 16 -- Lepokierros 6,6
Jako: 13 Jako: 14

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
8 7 6H N = S2 1430 11,0 1,0 11 13 2S N +1 C2 140 12,0 0,0
11 13 6H N = D8 1430 11,0 1,0 3 2 25 N = H4 110 9,0 3,0
6 4 4H S +2 D4 680 7,0 5,0 8 7 2SS N = D3 110 9,0 3,0
14 15 4H N +2 C3 680 7,0 5,0 14 15 3S N -1 D3 -50 6,0 6,0
16 12 3N S +2 87 660 4,0 8,0 6 4 3S S -2 H4 -100 3,0 9,0
5 1 3C N +2 D7 150 2,0 10,0 16 12 35S N -2 D6 -100 3,0 9,0
3 2 4s S -1 H7 -100 0,0 12,0 5 1 4s N -3 H7 -150 0,0 12,0
- 17 Lepokierros 4,9 -- 17 Lepokierros 4,9

Jakotaulut



